MODULE 1 ROAD SAFETY QUIZ - KEYS4LIFE ONLINE

Questions and Answers

Question 1
If you are travelling in a lane that has a left-turn arrow marked on the road, can you
drive straight ahead?

e Yes, if no other traffic is approaching

e NoO

Question 2
Who will be fined if a passenger under the age of 16 is not wearing a seat belt or
suitable child restraint?

e The owner of the vehicle

e The passenger

e The driver of the vehicle

Question 3
What is the meaning of this sign?

e Parking is reserved for a person in a wheelchair
e Parking is reserved for emergency vehicles
e Parking is reserved for holders of a current ACROD parking permit

Question 4
What is the meaning of this sign?

e Caution, the road curves right
e Slow down for a dip in the road
e There is a steep hill ahead

Question 5

Which of the following statements is correct?
e |tis always safe to travel at the speed limit
e Your travelling speed should be as close to the speed limit as possible
o Travelling at the speed limit is sometimes too fast for the conditions

Question 6

What is the safest way to approach an intersection?
e Travelling at the speed limit for the area
e Travelling at a speed that will allow you to stop, if required
e Look steadily to the right



Question 7
What does a broken white line down the centre of the road mean?
e You must not cross the broken white line
e You may only cross the broken white line to turn right
e You may cross the broken white line when overtaking or turning right, if it is safe to
do so

Question 8
What is the meaning of this sign on the back of a bus?

GIVE
““0 WAY

@b

e You must give way to the bus if there is no other traffic on the road at the time
e You must give way to the bus if your speed is less than 70 km/h
e You must give way to the bus if it is preparing to move out from a bus stop

Question 9
What is the meaning of this sign?

e No entry for heavy vehicles
e No entry at any time
e No entry during daylight hours

Question 10

Are you allowed to park a vehicle on a pedestrian crossing?
e Yes, if no pedestrians are using it
e Yes, ifitis a passenger vehicle
e NO



Question 11

What should you do when you see this sign?
e Slow down and be prepared to stop
e Be prepared to speed up to avoid workmen on the road
e Close your windows to avoid damage from flying objects

Question 12
Is a vehicle allowed to cross over a double unbroken white line (as shown in the
diagram)?

e Yes, if the driver wishes to overtake another vehicle (Need picture)
e No

Question 13
What is the maximum speed learner drivers (L plates) are allowed to drive?

e 110km/h

e 100km/h
e 90km/h
Question 14

What must you do at a children’s crossing when a crossing attendant extends his
flag?

e Stop and do not proceed until the attendant withdraws the sign

e Slow down
e Drive on carefully if no children are on your side of the crossing

Question 15

What is the rule regarding overtaking at a pedestrian crossing?
e You must not overtake a vehicle that has stopped at a pedestrian crossing
e Give way to pedestrians on your right
e Give way to pedestrians on your left



Question 16

Are you allowed to use a hand held mobile when driving?
e NoO
e Yes, providing you do not lose concentration

Question 17
What must you do at a STOP sign?
e Stop at least two metres before the sign
e Stop and give way to all traffic on the crossroad
e Slow down and be prepared to stop if any traffic is approaching

Question 18
Which of the following statement is correct?
e Passengers in vehicles are less likely to be injured in a crash if they are wearing
seatbelts
¢ The nature of injuries in motor vehicle accidents is not related to the wearing of
seatbelts
o Passengers in the rear seats of vehicles are not required to wear seat belts

Question 19

Are passengers allowed to travel in the back of a ute or in an open load space?
e Yes, if the vehicle does not exceed 60km/h
e Yes, provided they are seated

e No
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